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Workbook Practice 4 (pages 69 to 72)
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(b) Divide 528 by 8 o fid the number of pages in sach notzbock.

(9 mB-8=116
(@) There are 116 pages ineach notsbaoke
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(b) Divide 652 by 4 o find the number of beads on each necklace.
(© emek=173
(@) There are 173 beads on cach neckace.
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Subtract 660 from 1 6321l of ik o find the amount of milkremaiing.

1632~ 660= 72
There are S72ml of milk et afterbaking the cake.

Divide 972 by 6 o find the amoun of milk n sach glass.
a726= 162
There are 162l of il n ach glos.
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Add 128 and 436 togesher o find th totl nurmber of cheries.
128+ 436 = 564
There are 564 cherries in total.
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